| Efficiency vs Dxy |
0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : :

D35 X
© :

0.3 ifreive S ARttt M TS B AR
] SN TR PN SNV SN O S
0.2F g e
0.15F -+ E e o
oY AR .Y OO0 O YOO SO
0.05Fi{f-+i-- ’ -

OL.\@IIII;III;I ;III; l I; II;IIII;IIII;IIII

=
LI L B L B

e

¥

*

x

>4

+

-

0955 56-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFit100PIXLLNO__RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit100PIXLL__RECO

N 0.5
= H H H H H
D.45F - Feeeeeeeees Peeeeeeeee Beeeeeeeen R RRRE EELIILELES
> 5 5 5 5 5
L s s s s
(&) H H H H .
.35 proneerene Froverereees Frrereeeener ARAREE] I
® 5 5 5 5

X S S e s
PR T s
CH T S W B S

RPES 1 1 T TRI S s
| I S W |

008fH{- bt
O_leo:llllillllilnl-im“lillllillll

Rati

1 2-- ¢ $-¢----9-08-- Cheeeeeeeanns b2 Y SETERR

09365 =20 =16 0 10 20 30

TP dz (cm)




	Contents
	Page 1


